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1. B R

Mycroft Holmes and Sherlock Hohnes are brothers. There is uncommon similarity between two men.
A. an;/ B. an;the C. a;/ D. a;the

2. B
—Why hasn't Elsa come?
—The invitation letter to Anna by accident.

A.was emailed B.has emailed C.is emailed D.emailed

3. BB

The football match between Germany and France will be covered tonight.
A.live B.alive C.living D.lively

4. Bk R
, the secret of the castle is discovered little by little.

A.ends B.develops C.begins D.happens

5. HLI% B

I can’t understand that the woman oftencemplains shethas got a well-paid job and a happy
family.
A.whenever B.since C.until D.though

6. BLi%
—What made her unhappy?

A.Because sheost her wallet. B.She. has lost her wallet.
C.To loserher wallet. D.Losing/her wallet.

7. B -
—! Vm/looking forward to(the latest Hollywood film. ~ will it begin?
— next Friday.

A.How soon; Until B.How long; Not until

C.How soon; Not until D.How long; Until

8. B

--I haven’t seen Tom for ages. Any news about him?

--He in a toy factory for two years. Now he’s a farmer.
A.worked B.has worked C.was working D.would work

9. Bk

great fun it is to go hiking in weather!
A. What, so fine B. How, such a fine
C. What, such fine D. How, so fine



